PRHRI0FE AHMERIKR

EEI—F ENES B #H B B B
402061 e ] U R StEHKX @S 8,790,000 P - HIRFTE 0
piNic:
RIS ER 8,790,000 FELEE (FFEE3T, ) 9,201
EREASESHAD H31.1.154) A . D 0 VN 0
RS = IEHOKR S A 0 G 1
(55BKCHDBED) JE— &P
JTE
REPKAD -
S K S (5BBKCHDBED) 0 SHERSH 4
R 5 5% =
I 8 o PEHKRIEER 0 BAREE T 3
S m 378,738 REEBRAD 0 ETE 2
i — : TKBS | RSB HKIER S BEY - HRAW
[ nt 2,740,324 =S e 0 SITHEMY 7
17 REPKAD .
B il o i IS Pk EER OPBREDDSED) ’ NREE e :
= 5% e—
575 20t iR 0 REHKRISER 0 SEBEN 1
BEE Eiguavd i 816,768 REEHRAD 0 ETIE 1
i VRIS IR WEE
20t nt 0 REHKRISER 0 SEBEN 13
a8 P bl 4,980 D25+ - TSV HMUBAD 770 EJ 1
BS5  spnsge P8 = 943 BN ;| |zoee [FE =
&l = PRCELIEAD 28,615 BTN TR SEREN 10
BEiER (FHETF) m 58,711 BRI I7 S ERTEL 3 EJ 1
RBEA =
MEIER (FhBrH) m 7,393 iSEE —BISBIFHAS IS | &R 0.0 SERISH 4
=
n o RWE: A TF % s
U MEADO A 13,108 gﬁgﬂ%ﬁ THEIAY T7 5% BT 0 N ERE 1
gy FRIGINES Kl 19,094 | —EEIHAS IS | @ 0.0 TSN 0
N = s _
IR _,  |mmAC x 47,759 s s | DEVALIRGE ey 0 B 2
- & FFERIZ
FRIRINESR ' 19,614 b e g | ms 0.0 SEHES 0
- BT E A 0| |y |PBRIEES HETNIIES e 0 B 2
N SE] e =EA T=
—WEHAESE | A 0 5t R—b | —EPEEMAS IR B 0.0 SERSY 0
FKEF |#6KAO
b=y RVATE] 7 V- 7
Bk REIRTE A 0 s A BRI I7EES SR 0 Rgtzrsy = 1
H 4 A EE =R —
BHEIEEY | _gemman| A 0 Toh | s | s 0.0 BEOR B 0
BEPKAD | A 0 J— SEENESR | TRETAY TTREER e 0 BROR SEHSY 0
& NBax
SEHKRE@H | nf 0 SR | hEt IS ERTE 0 ERIE 103
X T —— — =S5
BEHKRIAERE | nf 0 . $HE | HEINIIMER EPTE 1 LEA 5,145
R == _ _
STESRILRIRA | i) 0 Cig E Ciem | PETRITINESR B 0 P iy (i 4,722,573
TLEXR:
TKEFE |AHTKE IRTERRAMBIB | (57T 0 2 GEER 550,346
REUE
HEMEREHRE | nt 0 IS Tt (HoF) 3,085,542
IRENEXEERE | nf 0 = B GEER 660
BENEREAAD | A 0 . THRIRES Tty (ithiE 0
REKHERREFAD |\ 0 ZDHMOEE Tith (D) 0




